Posted by gendres on Thu, 01 May 2003 18:07:46 GMT

View Forum Message <> Reply to Message

tarsonis9Quote:It couldn't have got it wrong... The symbol will be the same no matter what
numbers you choose.

Examples: 75: 7+5=12 ; 75 - 12= 63

74; 7+4=11; 74 - 11=63

73; 7+3=10; 74 - 10=63

63; 6+3=9; 63 - 9= 54

It is the same for other numbers. The symbols will match each other.
So saying that it got it wrong 7 times is a lie. You just can't add or subtract correctly.

since when is 74-10 637
and you say HE can't add or subtract correctly?[/quote]

lol!!
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